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Note: Attempt any five questions. All questions carry
equal marks.

1. What are the long-term goals of planning in
India ? Discuss achievements and failures of
planning in India. 4+6

2. Define ‘business environment’. What are the
three components of business environment ?
Explain their impact on business. 3+1+6

3. Discuss the regulatory and entrepreneurial role
of government in business. 5+5

4. Define ‘monetary polic. What are the
instruments of monetary policy used in India ?
Explain them briefly. 2+8
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5. What are the causes of industrial sickness ?
Discuss the various measures taken by the

Government to overcome this problem. 5+5

6. State the causes of industrial disputes in India.
Discuss the various measures taken by the
Government of India for the prevention and

settlement of industrial disputes. 4+6

7. What is foreign capital ? Discuss its role and
shortcomings. : 2+5+3

8. What are the causes of deficit in balance of
payments ? Discuss the measures adopted by the
Government of India to solve this problem. 4+6
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1. wRa § A % e we w0 ¥ 2 wwa 3§
o1 ) T Sudfeeri Ta fawerarent i faEe
Hforg | 4+6

2. ‘crawifiE e’ § afemw dfw | R
i % @ 9w (components)wse‘ ? qU

W I JuTE Y Sre hifa | 3+1+6
. 8. HaEE ¥ R f Fame w Sawwdl Gad
it H e e 5+5

4, e A A vfamn i | wwe § v Az
CAffa * Jgmor g B 2 IEh €89 § ourew

Hifm | 248
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5. 3fenfie s (industrial sickness) & T FAU
£ 7 30 GUE % QU % folt §0hR g1 STuEmT
e faftye Sum i fe==mr fifaw ) 5+5

6. Wra # e feat & st w1 3g@ fifvw |
Aefier el 6 Tpam e 37 figem & fag
WA HERU g 39T U fafts went it faaem

Hf | 446
7. fodeht €& @ =0 a1 R 2 Rt it @ il
i faa=m hifsg | 2+5+3

‘s.' T 99 & UIE & FT HAO 3 ? T GERN F
T & o WRe @R gRT 39T 7T 39Tt 6
faaeT fifvw | 4+6
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